Slender rod

Thin rectangular plate

Rectangular prism
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10.9 An overhead garage door of weight W consists of a uniform rectan-
gular panel AC supported by a cable AE attached at the middle of the
upper edge of the door and by two sets of frictionless rollers A and B
that can slide in horizontal and vertical channels. Express the tension
T 1n cable AE interms of W, a, b, and 6.
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10.9 An overhead garage door of weight W consists of a uniform rectan-
gular panel AC supported by a cable AE attached at the middle of the
upper edge of the door and by two sets of frictionless rollers A and B

that can slide in horizontal and vertical channels. Express the tension
T 1n cable AE interms of W, a, b, and 6.
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10.1 Determine the vertical force P that must be applied at C to maintain
the equilibrium of the linkage.
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